
(18.2) A mixture of amino acids is to be assayed for systeine. A 1.0 ml sample (density 1 g ml-1) is 

withdrawn, and 2.61 mg of 32S labeled cysteine of specific activity 0.862 µCi mg-1 is added. From this 

mixture pure cysteine is isolated by liquid-partition chromatography; 30.6 mg is isolated and measured 

to give 169000 cpm in 27% detection efficiency. What is the percentage of cysteine in the original 

mixture?
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From these data calculate as follows (neglect the added amount):
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Use eqn. S0*m0=Sx*mx m x
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